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Second Derivative Test :
-

1.If det ( Hess f) so and Ift so , thenI:÷÷÷÷÷÷÷÷÷÷÷÷I
3

. If det (Hess f) so
,
then the point is

a saddle
-
Note: If det ( Hess f) = 0 , then test is inconclusive.
- FOR THOSE OF YOU THAT KNOW LINEAR ALGEBRA :-

In terms of eigenvalues 72
,
1a of Hoof

If det (Hess f) = Xs . 1270 and As >o

then point is a local min
-

If det ( Hess f) = A , -12 so and Xs so

then point is a local Max
-
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If det (Hen f) - Ai - 72 so ,
then point is

a saddle .
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and classify them into a . If detfteesst) > o and txt so ,
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Critics: -

Pflag) = (3×2-2×+354 -2yt6xg)=(go)
3×2+35 -2x¥ 7¥{ oxy - y -- o ⇒ y (3×-2)=0 ⇒f ✓
If y -- o : 3×2+3.02 - a×=o
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3×2- 2x = O
x (3×-2)=0 ⇒ X= O or X - 43

If X - 43 : Ez +35- Zz = o
3y2- 13=0 ⇒ 35=13 ⇒ y
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⇒ y = I fly = I 13
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